‘ﬁ % Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
7,404 x 1000 = 1,092 x 100 =
1,123 x 100 = 5, 157 x 10000 =
1,239 x 10000 = 6, 736 x 10000 =
8,495 x 100 = 2,682 x 100 =
5,974 x 10000 = 6, 095 x 1000000 =
9,465 x 1000000 = 4,411 x 10 =
6,289 x 100 = 5, 836 x 100000 =
2,974 x 100000 = 4,753 x 100000 =
8,255 x 10000 = 1,448 x 1000 =
8,311 x 1000000 = 6, 135 x 100000 =
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‘ﬁjj % Multiplicera decimaler med tiomakter

namn: Datum: Poiing:
7,404 x 1000 = 7404 1,092 x 100 = 109.2
1,123 x 100 =112.3 5,157 x 10000 = 51570
1,239 x 10000 = 12390 6, 736 x 10000 = 67360
8,495 x 100 = 849.5 2,682 x 100 = 268.2
5,974 x 10000 = 59740 6, 095 x 1000000 = 6095000
9,465 x 1000000 = 9465000 4,411 x 10=44.11
6,289 x 100 = 628.9 5, 836 x 100000 = 583600
2,974 x 100000 = 297400 4,753 x 100000 = 475300
8,255 x 10000 = 82550 1,448 x 1000 = 1448
8,311 x 1000000 = 8311000 6, 135 x 100000 = 613500
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